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1. THEREFORE is to TEEOERFRH as HELICOPTER

isto __?

THEREFORE &7 TEEOERFRH & g&I de%S
g STHELICOPTER &#T3q® _ ?

(A) HELICORETP
(B) HLCPERTOIE
(C) RETPOCILEH
(D) RETPOCILHE

. In Haryana, on which occasion, Kothali gift is
given ?
RO A el 3WER fhd 3T W
fear Sar § 2
(A) Holi
glell
(B) Teej
drer
(C) Diwali
&rarelt
(D) Makar Sankranti
AP Hohlled
. What least number must be subtracted from
1936 so that the remainder when divided by 9,

10, 15 will leave in each case the same
remainder 7 ?

1936 H & Fid I I T BT TEIT TS
S T Ea o A9 & 319 9, 10, 15 § fyenfora
T ST aY Ik Feufa & §ATT AW 7 92 ?
(A) 53
(B) 39
(C) 44

(D) None of these / sﬂﬁﬁﬁé’aﬁf

. The idol of Lord Vishnu laying on Sheshshayya
(snake with multiple heads) is found from
which place of Sonipat district ?

qTIT W ol AT fasop v i
A fSrer # ogl & ured g3 ¢ ?
(A) Gohana

MNET=T

(B) Fajilpur
HIfSIR

S

(C) Kharkhauda
Trgler

(D) Mohana

HIgTAT

. Select the substitution that best expresses

opposite meaning of the underlined word.
Some democratic countries believe in racial

segregation.
(A) subordination

(B) integration
(C) inferiority

(D) domination

. Meningitis is a disease which affects the

Afdearsfea e foraer gerfad aXar &
(A) Kidneys
gah

C
(B) Liver
gohd

c

(C) Heart
gad

(D) Brain
Afeash

. Which of the following is known as a metal

rectifier ?
P & & R urg Rewd Fgr
ST & 2
(A) Gas tube diode
I Tge s
(B) Silicon diode
faferpl srae

(C) Copper oxide rectifier
dieT 3TFaTss fsesiy
(D) All of these / 3 |3

8. What energy is converted into sound energy in

loud speaker ?
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o138 T # Hid A Fol eafa Far A
AR giell & ?
(A) Mechanical vibration energy
i3 ST Foll
(B) Electrical energy
fega i
(C) Light energy
gehTel Fotl

(D) Heat energy

ara Far

. Which district of the Haryana is leading in the
production of Mushroom crop ?

GFl BHl & 3cUlesT A gRIATOM I HieT
&1 e 3ol § 2
(A) Ambala
JFTelT
(B) Karnal
HedTel
(C) Hisar
fear

(D) Sonipat

qad

10. Sarveshwar Mahadev Temple situated at

Kurukshetra was built by whom ?
Hoald PUd ddeay #gred Afeex e
FoAarT AT ?
(A) Baba Shravan Nath
d1€T HEUETY o
(B) Baba Haridas
areT e &
(C) Jugal Kishor Birla
Seter feReX farger A

(D) Baba Tarak Nath
96T AT o

11. In which district of Haryana, horticulture of
mango is not done ?

gl & 37 i SeEEr e G A7

el giar ?
(A) Yamunanagar
YHATAIY

S

(B) Karnal
haTel

(C) Mahendragarh
Ageede
(D) Kurukshetra
ERIEN
12. The metric unit of magnetic field intensity is
G 87 e AR g FT §
(A) Weber
CISEg
(B) Gauss
g

(C) Tesla
<ot
(D) Orested
HRES
13. The law which states that the induced e.m.f.

and current always opposes the cause
producing it was presented by

39 A & gfaues &ld § oas
3TER URA em.f. 3R & gAT FHA
3cUTesT $lel dTel HRUT &l U ad g
?

(A) Lenz
oot

(B) Faraday
L

(C) Maxwell
HFgder

(D) ohm
IH

14. Which one of the following single—phase
motor perform with better power factor ?

RAeifed & @ g @ tea-a Al
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B AT I[UTh & SR YAl ?
(A) Universal motor

3HTYRT Al

(B) Repulsion motor

gfasdor AT

(C) Capacitor—start motor

FUfJer-Tere Aex

(D) Capacitor-run motor

FfPerIT Aex

15. The principle of operation of an induction—
motor is based on

WA &1 aRaed fga Fag w
3mea § 2
(A) Faradays law
AT D]
(B) Rotating magnetic field
it e e
(C) Flemings right-hand rule
Felf#eT gfaromad fags
(D) ohm's law
3IH A

16. Kali Kamali Wale Baba ka Dera is at which
place in Haryana ?

gRATOT A STl FAC drel ST6T HT S
fore T W § 2
(A) Kaithal
HYel
(B) Pehowa

ggrar

(C) Kurukshetra
HoET

(D) Jind
SiiG

17. The longest network of Pakki roads
(developed) in Haryana is in the district

gRIOT F Ukl sl T FEH FIIET

s fPg T H E 2
(A) Hisar
fear
(B) Bhiwani
fRart
(C) Kaithal
el

(D) Panipat
IBIEG]

18. The liberation of electrons from the surface
of a substance is called

fret "ot & wAg ¥ soEciEar @
faATaeT a1 FHgarrar g ?
(A) Bombardment of electrons
Sl I THIRY
(B) Electronic emission
SAFCiiah ScHold
(C) Movement of free electrons
HeFl ATl T Heloldd

(D) Thermionic emission

A feieh 3cdolel
19. olITH oIl hl I 3'1'2& %' ?
(A) Qe
(B) fora=ror #tatm
(C) gy e
(D) faryer aeatm

20. Externally, the magnetic lines of force travel
SET & G, gl H IIRT WS oIl

&

(A) north to south
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3cad} ¥ gfayor

(B) south to north

ST § 3ccX
(C) negative to positive

fafea @ difafed

(D) in both the directions
alar feemsit &

21. seorar T el T ¥ 2

(A) geerer

(B) gger

©) 3=

(D) garfa

22. Contribution of which district of Haryana
during Revolution of 1857 was most ?

1857 &I whifed H gRIOT & fha e
FI IR TE@T ?
(A) Gurgaon

()

I[SITT

S

(B) Rohtak
RRED

(C) Hisar
fear

(D) All these
T gt

23. When was ‘Skill India‘, an initiative of the
Government of India was launched by Prime
Minister Narendra Modi ?

T HAT e A GIRT HRA AR
Fr ggeT ~ THIT S3AT (P HARA) e
AE HT IS A ?
(A) 21 November, 2014
21 dAqey, 2014
(B) 25 September, 2014
25 f@aFsy, 2014

(C) 15 July, 2015
15 JelT$, 2015

(D) 21 November, 2015
21 s7gev, 2015

24. An ideal current source should have
e e @d F T giaT A1fgT ?
(A) Infinite resistance
3reie yfaer
(B) Zero resistance
YT gl
(C) Infinite capacitance
3ol eTidr
(D) None of these
STH T IS el
25. The bit of a soldering iron is made of
Aresfer aig &1 3Eh (o) foradr o=
gl & ?
(A) iron
SgT
(B) brass
drder
(C) copper
arar

(D) stainless steel

FAeld FloT
26. 317eT areg &1 WET A FAT § 2
(A) a1s
(B) g=r a1
©) a1 wge
(D) w¥er s

27. Which one of the following is not a reason
responsible for fire ?

feAfhd & & &lA @7 3WET HT FROT
el & ?
(A) Wrong fuse rating
el wger T
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(B) Loose connections

&rel SFolerelel

(C) Damaged insulation between the line and
neutral
agd d ggel & drd  affdaed
SeIRIA

(D) Reverse connections in a 3—phase motor

3-the AT & R FaFUT

28. Which State has the largest number of seats

in Legislative Assembly ?

faure g9 # g T $HI deeg &l
FaIfes g ?
(A) West Bengal
Y. dTel
(B) Maharashtra
HeISC
(C) Uttar Pradesh
JcaT geer
(D) Bihar

ICRIEY

29. The frequency generated by a 8—pole

alternator rotating at 600 r.p.m. will be
600 rpm WY gHAA el 8-¢d 3feclelel
CaRT 3cqifed 3Mdicd fohdelr g ?

(A) 20 Hz

(B) 40 Hz

(C) 60 Hz

(D) 80 Hz

30. Optical fibres are based on the phenomenon

of
el o fore aReear o merRa §

(A) Interference
cgfdenioT

(B) Dispersion
afaTaor

(C) Diffraction

faader

(D) Total Internal Reflection

o SR

31. The perimeter of an isosceles triangle is

equal to 14 cm; the lateral side is to the base
in the ratio 5:4. The area of the triangle is

ferdiy FoefasTg fatst S IRFATT 14 cm &
SRS § | TR & 38 9129 o 3HeIaTd 5:4
& | Te7ST oh1 &Y thel fohelell & 2

) %wfﬁcmz

o

9

(C) f21cm?
(D) 2./21 em?

32. The process of conversion from a.c. into d.c.

is called
a.c. ¥ d.c. H FUTAIUT AT hgelldl g ?

(A) Amplification
gatiel

(B) Rectification
faseaoT

(C) Modulation

HISeleT

S
(D) Factorization
UGS

S

33. The tool generally used for cutting small

wires and cables when they are close to the
terminal is

cfiaTar & Qe arar @ ari 31T et
F Fed & @OT FHAIR W FT
3YhTOT T FAeT foham STar § 2

(A) electrician knife

ST RIGeT AT
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(B) diagonal cutting plier
ST HEI TARY

(C) combination plier
TGFd T

(D) scissors
hdr

34. The advantage of nickel—iron cell over lead—
acid cell is this that

Wa-0fds o 1 Joar A fAher-aigr
T T FAT IH & ?

(A) it has a higher efficiency.
ST 3T &Il gl & |
(B) it needs less maintenance.
SHH FH T@IWIT H I gl & |
(C) it is much cheaper.
Ig BT TEAT I ¢ |
(D) it gives a higher e.m.f.
IJg 3TN emf.aar g |

35. You note that a d.c. motor starts with jerk
when starting the motor. What may be the
fault for this effect ?

A9 g@r fo AT =] ad qFAT de
AT ek F A B SHH ;T

HROT g Thcll g ?

(A) Line voltage too high
HIT 3T ST dleco

(B) Short—circuit in the field winding
& Holel H AE-HAlhe
(C) pitted starter contact terminals

AfdT TR &1 fHAT F dIF

(D) Wrong grade of carbon brushes
el IS & el 32

36. The sensitivity of a voltmeter is expressed as
diecHeY &I ddcadedr fhad <Tad
Fr AT E ?
(A) volts/ohm
drec/30H

(B) ohm.volt
3HA.alec

(C) 1/ohm.volt
1/30#. dlec

(D) ohms/volt
A/

37. The length and breadth of a rectangular
piece of land are in ratio of 5:3. The owner
spent * 3000 for surrounding it from all the
sides at * 7.50 per metre. The difference
between its length and breadth is

foralY JTIATRR $[@US T FaTS T <AISTS I
3UTe 5:3 B | -FaHT 38 i @l
gqreaf @ 750 gfy AL FreX o & g
3000 @d AT § | SHHT oeaTs T disTs H
R FATE?

(A) 50 m /50 #t

(B) 100 m /100 =Y

(C) 150 m /150 &Y

(D) 200 m /200 #Hr

38. Which type of resistor is used for over
voltage protection ?

3w dreedr e & fav frd @E &
T T 99T fovar STar g 2
(A) Sensitors

afeaex

(B) Thermistors

uffEeT

(C) Varistors
aRFx
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(D) Light dependent resistor

genter 3meTRa IoEeT

39. The circuit breaker which does not contain
any serviceable part is known as

gg dfhe g AT Fgarar & or@H
iEH & o HIS Il AL g ?
(A) 0Oil Circuit Breaker (OCB)
e "fdhe ST (OCB)
(B) Miniature Circuit Breaker (MCB)

ffrreR @ffe 39T (MCB)

(C) Air Circuit Breaker (ACB)
wR AT 397 (ACB)

(D) Air Blast Circuit Breaker (ABCB)
T sa¥e Fidhe ST (ABCB)

40. Choose the alternative which best expresses
the meaning of the given idiom/phrase.
To throw cold water on

(A) talk frankly
(B) to abash
(C) to ignore

(D) to discourage

41. Two of the fugitives managed to remain free

by adeptly avoiding the of the
police. (Fill in the blank)
(A) pursuit

(B) discovery
(C) following
(D) expression

42. Who was the First President of the Indian
National Congress ?

33T AU FEIT & GUH 3FETET Filel
2
(A) Jawaharlal Nehru
STATEYcllel Ag®
(B) W.C. Bennerjee
seeg |, deit
(C) Dinshaw Wacha
feeTert arar
(D) Sir Surendra Nath Banerjee

T GeGel1y Seolf
43. Surajkund was constructed by whom ?
QISIFUs H1 AAT fhadh earT Frr
IqT AT ?
(A) Surajpal
JI4Tel

LA

(B) Mahipal
Afgurer

(C) Hemchandra
gAY

(D) Harshvardhan

g¥age

44. In Haryana, at which place maximum number
of Iron pipes is manufactured ?

gRamom A ol & Usy FI HaIRed
foreToT gl BT & 2
(A) Sonipat

g

(B) Faridabad
HRAGHETG

(C) Gurgaon

EIECUE)
Pl

(D) Hisar

AR

45. Which river is not flowing into the Bay of
Bengal ?

Fa @ 7 o & w@d § vaERa
el gIch & ?
(A) Tapi

ardy

(B) Cauvery
HIa

(C) Gomati

MHA

(D) Brahmaputra
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TEAYS

S

46. The type of slots used in armature of a high
voltage d.c. motor is

3T dleedl drel d.c. AT & IR A
g W & T F gA9T har Jar g
2
(A) closed type
(B) semi—enclosed type
37 Hged YR
(C) open type with dovetail
s9ed & WY Gl TR

(D) open type with tapered slot
IR @Y & AT Gl JhR

47. Sur Samman Award' is given to the
outstanding talent in the field of

T GFA RER fRa &7 A fafdrse
gfaem & faT yerer fhar arar & 2
(A) Sports
g

(B) Literature
aifee
(C) Agriculture

Cat)

(D) Cinema
R

48. Choose an alternative which can replace the
given sentence so as to communicate the
same meaning :

The state of being unmarried.

(A) bachelorhood
(B) bigamy
(C) monogamy
(D) polygamy
49. ~amer AR 3mUT ST @ WEr I3
Ahed TIeT FY |

(A) gfaer ¥ g |
(B) 2Ygxr cagR & |

(C) 757 BT TR a1 T |

(D) srerater fAsror
50. The PTC resistor is called as
PTCISEeY T shgdlrar g ?
(A) Thermistors
UTAT

(B) Varistors
aREX

(C) Sensitors
AT
(D) LDR

51. Which is not the passive components from
the following ?

Arfead & O a9 o AT ges
STer & ?
(A) Resistor

e

(B) Transistor

eiforeex

(C) capacitor
FaffeT

(D) Inductor
g5FcY

52. What type of core is used in a transformer
designed to work at high frequencies (MHz
range) ?

3Td 3Mfcadl (MHz 3e9f) T & &t
& v BT fu av v § g
RE HI DR HrA H T dr JAar g ?

(A) Aluminium core
TAATH HR

(B) Iron core
ET AR

(C) Air core
ag FR

(D) Open type iron core

MASTER



ol TET I gl PR

53. The armature of d.c. generator is laminated
to

de. FAET &I HHW FA g famar
ST § 2
(A) reduce the overall mass
THIT GeTHATT Dl HH el & oIl

(B) insulate core
PR F Fogelc A & fow

(C) reduce the eddy current loss

¥ YRT 87T & FH - & AT
(D) All of these
T el
S4. FHTHT BTl FHETaR T Tl 7 AT § 2
(A) g & greT |
(B) et gtz |
(C) amae & |
(D) g 3 &= |
55. Where Chaudhary Chhoturam was born ?
derdl BICUH FH SIeH T T AT 8§ 2
(A) Kheri Sampala
I |iqel
(B) Garhi Sampala
I AT
(C) sanghi
arelY
(D) Hasangarh
gdeldle

56. Which award is given by Urdu Sahitya
Academy for excellence in Urdu Literature?

3¢ WMMecd IPlCAT g@rT 3§ Hgca &
fafIsear & fou #id @ g fear
ST & 2
(A) Mirza Galib Award

fas anfers &R

(B) Urdu Sahitya Ratna

10

3¢ g Teal
(C) Hali Award
gTell [EFR
(D) None of these
SoTH H IS oTel
57. Who has been crowned as the FBB Femina
Miss India World 20167

FBB®fA-T fw sEaracs2016 &
arerareft e &r IS ?
(A) Namrata Sharma
STHAT AT
(B) Priyadarshini Chatterjee
R desit
(C) Pankhuri Gidwani
(D) Sushruthi Krishna
A Feom

58. Which one set of letters when sequentially
placed at the gaps in the given letter series
shall complete it ?

& ol st AT HHG TTell TG T HHAAR
TG W &Y IS 3HET e T I ?
_ab__ b ______abab

(A) abbaa

(B) bbaab

(C)abaab

(D) aaaba

59. Gas—discharge lamps take some time in
illuminating fully. Which of the following
lamps takes comparatively more time in
illuminating fully ?

IG-FATQALY ofF T U RE I Soled A S
AT a0 § | AFdfed & O i @

MASTER
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FT @ TE F ST H JolellcASs ®

(B) Cathode

T SIET §HAT ol & ? Hus
(A) Tube lamp (C) Grid
(B) Mercury vapour lamp (D) Drain
TR 4R A £
(C) Sodium vapour lamp 64. Kamla got married 6 years ago. Today her
1
AT 9T b age is 15 times her age at the time of
(D) Neon lamp marriage. Her son’'s age is (1/10) times her
GG age. Her son’s age is
60. Find the odd number from the given hare 1 faare 6 aﬁqﬁgm ! . :
alternatives. , 39 3EH A S AR SHY 1A E
few are fashedt & & faws dear gav |
(A) 125 | 35 G T 35 3T 37 7 (1/10) I[ATE |
(B) 789 ?ﬁm%
(C) 236 (A) 2 years 12 a§
(D) 347 (B) 3 years /3 a¥
61. Choo§e the word thfat best expresses the (C)4years /45§
meaning of the underlined word :
We repeatedly asked the girl why she was (D) 5 years /5 a§

crying but she said that she did not want to
entangle us in her affairs.

(A) entrap
(B) impress
(C) involve 65. Bahadurgarh city is falls in which district of
Haryana ?
D .
(D) induce qgIgLeTe IR gRAOT & frd e &
62. Select the correct alternative.
o 3o 3T § ?
el ey &1 I9a HfST | ¢
C3F6:19L12::K11N14:? (A) Jhajjar
(A)O15R 18 S
(B)R18 U 21 (B) Rohtak
(©)q17T120 flE:EI P
(D)L12015 (C) Faridabad
63. An emitter is generally called BUCIE)
3choleh T MHIR 9T FAT Fgl AT & (D) Sonipat
? aeaa

(A) Anode
VAlS

66. From the given alternative words, select the
word which cannot be formed using the
letters of the given word :
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fAFfaf@d fasedl # @ ag ereg gfAv, s
feT 91T orsg & 37ERT FT YAWT Fleh oIgl
SeTTT ST HehelT : REHABILITATION

(A) ALIBI

(B) BATTALION

(C) BILLION

(D) BLATANT

67. Which Rishi's abbey is situated in Asthal
Bohar ?

XTI SR H g mN FT A § ?
(A) Chyawan
Tddel
(B) Kapil
il
(C) Mast Nath
HAEIATT
(D) Ved Vyas
deeard
68. Famous Phalgu fair is held at which place ?
g Wodl @ Aol ThE T W
3TN BT § 2
(A) Faral (Kaithal)
B (HYe)
(B) Tarawadi
GNEE]
(C) Fatehabad
EDEEICY
(D) Pathri
SRR

69. The average weight of 50 balls is 5 gm. If the
weight of the bag be included the average
weight increases by 0.05 gm. What is the
weight of the bag ?

50 Gr T 3ad IR 5 gm § | I der &r
gotoT $iY 39 iR fhar STe ar 3iEd IR
0.05 gm & §¢ AT g | of &1 R AT
HIfAT |
(A) 5.05
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(B) 6.05
(C) 7.05
(D) 7.55

70. Which of the
compounds ?

et &Y 31foha I AT I TR & 2
(A) Helium
HIGRE]

(B) Xenon
cicic)

(C) Krypton
forceter

(D) Argon
3T

inert gases can form

71. The connection of a zener diode in a circuit is
always

gfhe H AR SIS HT AT gAHAT
gl &
(A) in series
Aofy #
(B) reverse-biased
T 919

(C) forward-biased
K IR ES)

(D) in parallel
AR H

72. Which is the State Bird of Haryana ?
gRITOT T JorhrT gaf &hid @7 § ?

(A) Hawk / aTeT
(B) Pigeon / TG

MASTER



(C) Black Francolin / &t dieay

(D) peacock / AR
73. The acceptor type of impurity is
UFAT YhR T 3R T AT & 2
(A) Phosphor

v

BIEPY
(B) Freon
frateT
(C) Boron
IR
(D) None of these
SAH q PG ALl
74. The specific
depends on

frer T @1 fafdse gfety e @@
foroR #xar g 2
(A) its length
ELEANCEIES
(B) its cross—sectional area
SR HTIEThIC &
(C) its kind of material

ST ATHIAT FT JhR

(D) all the stated factors
T §ft FRF

75. The element used for making solar cells is

AR de F IO H R ded HoTHET
gl & ?
(A) Magnesium
HeA s
(B) Sodium
aifsaA
(C) calcium
HlcadH
(D) silicon
fafasia
76. Which one of the following is called the
digestive bag in the cell ?

resistance of a substance
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FfAAT A e A F Fled A qraar I
(digestive bag) srgalTdT & ?
(A) Golgi body
diestt T
(B) Mitochondrion
HSCIR g
(C) Ribosome
T

(D) Lysosome

CIER:IE: 0]

77. Impurities in an electrolyte can cause an
internal short—circuit condition called

goldglose @l IRIGA & g drelr
iaRke aré-afhe ufa Far sgardr §

(A) depolarization

faeggor

S

(B) electrolysis
faega-3maes
(C) local action

Taifas fhar

(D) polarization
gIaoT

o]

78. The festival of Makar Sankranti comes in the
month of

AR Tehlfed 9a v HAGT H 31T & ?

(A) January
SteTady

(B) February

MASTER



Bl
(C) December

feassx

(D) March
ART

79. The couple performing Inter—caste marriage
in Haryana is paid an amount of

edelrdar f3arg e arel eFafea &t
RO #H fohasir Tfer & Srdr & ?

(A) one lakh rupees
‘TUh dE

(B) seventy—five thousand rupees
"JdgcdY goll

(C) fifty thousand rupees
TUOrE golR
(D) no grant
IS feleTel el
80. Which milch animal is known as "Black Gold®
in the Haryana ?

e qure uy & gRIOm A arem
AT gl ST § 2
(A) Neel Guy
sileT I
(B) Murrah Buffalo
< st
(C) Black colored cow
el T T I
(D) Goat
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